fm siy :
Subject Coda : 21 0 E
———— SECONDARY SCHOOL EXAMINATION O 9
gl 2020 - (ANNUAL| &
o MATHEMATICS i3
G ( Optional Compulsory ) ! 3
nfora ?
( UfRew sframd )
EH S W) W 60 « 35 - 95 = g et 8 w2
Total No. of Questions : 60 « 35 = 98 Total No. of Printed Pages : 24
(wn : 342 15 fipw) (7 - 100)
| Ttme : 3 Hours 15 Minutes | | Pull Marks @ 100 |

seiataat & ferg fde
Instructions for the candidates :

1. Ginet qurae s e ok e €1
Candulates are required to gl therr answers in ther cwn words as far as
pructwable.

2. ofet s ofedd ot g o stw ol ffte st
Figures in the nght hand margin indicate full marks

3 i 1 VI Yaw W & B 15 ez e siafe e Ra e b
15 munutes of extra time have been allotted for the candidates to read the questions
carefully.

4. F SE9A 5 GVl § § — avg-N 03 avy-ul
This question paper ts duaded into two sections — Section-A and Section-B.
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s gugsy i eowgfre wer & fami & e so wyat wr Iav & swfvard &1 qay
& sifi g & I & W w50 I F § Eid FVeY ERI [ar sy,
gE gE & v xdwﬁlﬁfﬁr#:m?mﬁavmiwﬁwom I 9T

ﬁ.-z:wm?gnm?a?#/mmdv#mﬁrﬁm?sﬁm*m/

e wand 7 &% / v wfe © OMR JAT-IRTET §F W HEX 7T R, vy

qftuT wfromy ST g
In Section-A, there are 60 objective type questions, out of which any S0 questiony

are to be answered. First 50 answers will be evaluated by the computer in case
more than 50 questions are ans wered. Each question carmies 1 mark. Darken the
circle with blue / black ball pen against the correct option onn OMR Answer sheet
provided to you. Do not use whitener / liguid / blade / nail ete. on OMR-sheset,
otherwise the result will be tnvalld.

6. @-T i 2779 I G ¢, [ & T 15wt @ 3 3 Afard b
wRiF v & (o0 2 s Fife &1 3 sfafs, 3@ avs o 8 did awdie v

73 & formd @ st 4wt @ 3w 3 &1 99F 597 & e s s fvifa &1
In Section-B, there are 27 short answer type questions, out of which any

15 questions are to be answered. Each question carries 2 marks. Apart from (his,
there are 8 long answer type questions, out of which any 4 questions are to be

answered. Each question carries 5§ marks.

7. FEdt SR & gelagi® IYFOT FT HaGrT qoiaar afd &1

Use of any electronic appliances is strictly prohibited.
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WYy - N / SECTION - A
aw|fra u¥T / Objective Type Questions

mmxﬂwmtmtmw&m&qwthﬂﬂwﬂhﬁrﬁ

so w¥l & T W gry g o Wt fawew W oMR ¥ v fafgm wh
S0 x 1 =80

Question Nos. 1 to 60 have four options, out of which only one is correct. Answer any

50 questions. You have to mark your selected option on the OMR-Sheet. 50~ 1 = 50
1. t‘Ut[‘)O'-A -
< ' -

(Al colA LABY~ tanA

(C)] winA (D) i A &t Té/nonc of these
2 g VR R e

(A) ofvig @ (B) U HEem

() Wiy T (0> 1 wig

J3 isa

(A)  Rational number (B] Natural number

(C) Ilrrational number (D) nonc of these

3. /114 ca:cc(}-‘,‘ i0 ﬁ. a scchw=?

(A) —fﬁ ®) —'/;j
(C) % o lDr"""—%
If cosec = /10, then secO is cqual to

) % (8) -";‘,_9
() "J:_E (D) _Ji%
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) e & faams &
s Fegad Rexy,) M S(eg.y,) B R gt tanavs & A

- + Ea X, * X9 W+
w (A 5k (B) s
g v g
!C} [x:‘xn y|_y2) (D} y ‘-":'*xa-yl*yzl
2 ' 2 r—

The coordinates of the mid-point of the linc scgment joining the points R(x,, )

and S(x,,y,) is

/ \ X, +X, Yy *Y,
Xty X+, B 1 ?‘ J
(x,-x; y,-y,)
(€) - L D) (X + X34 * Y2
\ 2 2 /
5, % frs sl ot g w13 &
(A)  wanTER N
(€ watmed S aey D) ¥ & S T
Two circles of different radii are always
(A}  congruent (B) similar
(C)  congruent and similar (D) nonc of these
tan49°*
a7
A) 3 . B 2
74 qHIER A0 2,7, 12,17, .. & WU ayg-ayy 1 9F ¥ (T o, @R o0 F
n @ 9T &1)
(A) 100 (B} 10
50 (D) 20
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The value of a, -a.

2o forthe AP 2,712, 17, . (where a_ denotes the n-th

Wwrm ol AP

Al 1 O

(B3) 10
) %0 D)y 20
8 oo ap 20?4 se- 12 & v }
: (3
A) l “.3 ] B _{-a, 51)
; 2
-
. 14
) (-3.3] D) (-3,4)
The zcroes of the polynomial 2x? + Sx-12 are
J
1 [ 2 ] (8) ( " g)
~ 3 4
©) [-3.5] ) (-3,4)
o T Q siw @ wm g @ fawma )
W 25 o 30
(Cy 32 (D) 36
How many two-digt nummbers are divisible by 3 ?
(A) 25 B) 30
Iy 32 (D) 36
l,{,l/ ufz nnd--l% 0, @ cot A FHE W
B 17
T B 13
% S 8
JOE ® 17
If sinA = -I% . then the value of col A =
8 17
W B 15
w 1S5 B
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& - - g by - ‘t m . -y
';/ ‘i*“.ﬂ"'-?*‘!‘*:xm‘tm‘nﬁ4;-1:,-0...1-"! J l"!rﬂ?
A QL Tt
For whxh value of K will the system of equatons 4 o_l.,y-b. dx -4y =] m

many solubons ?

WAl -3 B -8
< 8 o 2
12 =R 46, 13,20, _, 216 ® TR RE

LU FE B 104
N~ iR TY D) 125

The muddie term of the AP. 6, 13,20, ..., 216 is

wos B 104

Q1 O 125

13 NR(6.-s)mgat

w6 i
Q-6 D 5
The x-coordinate of the point (6,-5 ) is

m s < @ s
Q -6 o 5

13, sec?60*-1 T SAL

N % ® 3 '
L0 IR ©r~ o
Value of sec? 60* -1 is
L ®)
< 4 (D)
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15 TR («? o 5x 0 8) & el o (wep)e2

A} S qﬂl/ ~5
€1 8 o -8
Il a and P are zerocs of (x? +5x+ 8) then (a+fi)m?
(A5 | -5
C) 8 o) -8

16. ﬁdfmﬁm&mfmmmbmmwaﬂ.mmmm

(A) __{1_5_ a? (B) a +: + £
2 2
€) -;- 4a? - 3 (D) ——"J“"""

I an isosceles triangle has base band cqual sides a, then Its arca will be

J 2 a+b+e

(A) e (B) gt
2 2
© a5 (D) ———-""‘“4“"

17, G WEHE x -2y = 3 A1 3x 4+ ky = 1 T (F AT ¥ A, A

A) k=-6 - B) ku-6
(C) k=0 (D) k=»0
If the cquations x -2y = 3 and 3x +ky =1 have an unique solution, then
A} k=-6 AB"k» -6
C) k=0 ‘ (D) k=»O

18,  faell dAm # Fad 10 m &1 A @ F I BN 450 ), @ AR A o B
TS AHN T ?

A S5m B 8m
(C}) 7m —{D}— 10m
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- of the sun is 45
The height of a tower 1s 10 m. When the angle of clevation 3,

. ' und ?
what will be the length of the tower s shadow on the gro

Al Sm B) 8m
G Tm (D) 10m . .
19 hﬁﬁ#ﬁﬁﬁSmgﬁuﬂhﬁaﬂqﬂﬂmmmmmm
4::11%.?1:]?;'?!?3&3!&
(Al 7cem (B) 6cm
(€} dcm (D) 4cm

The length of a tangent to a circle from a point A at a distance 5 cm from the

centre of the circle is 4 em, then the radius of the arcle is
(A 7om (B) 6cm
(€) 3em (D) 4cm

20 @ O % UE W IO T A 9§ ST g N B8 T 1 6w

yiGaa & 2
1
w4 %
@ = o 2
Two dice are thrown together. The probability of getting the same number on
both dicc is
1 1
W 3 I
(©) ;‘1— (D) %
2. scc0=?
cos0 1
il sin0
A @ =83
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22, HW 3Jcon0=2 @, A (2scc? 0+ 2tan?0-7) W WA AW
(A) 0 \LB"’ 1
(C) D) 4
Il 3cos0 =2, then the value of l2scc30+2mn:0-71 will be
AV 0 By 1
© 3 © 4
23, favait wem E % ufza &3 %t wiewa p(£) @, @ Freifea § o9 w6 § 2
(A} P(E)<0 B) P(E)>1
(C) -1sP(E)s1 JPr O0sP(E)s)

If the probability of occurrence of an cvent E is P ( E ), then which of the
following is correct ?

(A} P(E)<O B) P
(C) -1sP(E)s] (P)“0<P(E)s

24, TR x? -2¢-3 F [EFAFAE?

(A} 3.1 B) 3,-1

€ -3,1 D) <3 =1

What are the zeroes of polynomial x%<2x-37

A 3,1 B 3,-1

lcl -3| 1 lDI "3. -1
25. (&l g9 & awitE 3 fee fag e st & 2

Al w B 2

i 1 D) 3

At how many points does a tangent line of a circle touch it ?

(A) B) 2

< 1 o 3
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26 2,6,4,50,21,3,2% s

(A2 | 3
i) o D1
Mode 0f2,6,4,5,0,2,1,3,21s
Ay 2 B 3
€) o (o) | 3 ol
W w -
7. ot BE (2x-1), (3x +2) TG (6x - 1) THIA soft 7 &, @ x
a3 | 1
2 o) © -
If the numbers (2x-1), (3x +2) and (6x 1) arc in A.P., the valuc of xis
Ay 3 (B)
€y 2 Dy ©

28, % U WAE pa? 4 4x + 3= 0 F T WA, G p A AW
N

D)

(A}

e Wi
nijw Wi

(€

If roots of quadratic equation px? +4x +3 =0 arc cqual, then the valuc of Pis

2 4
(A) 3 (B) 3
4 3
(C) 3 (D) 3
29. 31 WA WG] & Ho¥o &
(A) O B 1
€ 2 (D) 4
The HCF of two consecutive numbers is
A) O B) 1
€ 2 (D) 4
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W RF 2,0 0 g g fag QR

JN- 10 m iz
€1 13 D) s
Distance of the point {2, 3) from the ongin is
A V1o m V2
€ i3 D) S5
I, 2L181S, W W WG g k)
el :
A 6at @ 74
) sa ' o) g
Which term of the A.P. 21,18,15, ... is 0 ?
(A} 6th B) 7
(C)  8th () 9th

32 wam U # R frit fag @ ot et v weemi & 2

LY ~By wi
C) (A 3T (B) g D) T A w1 T
The distance of a point in first quadrant from the x-axis is called
(A} x-coordinnte (B) y-coordinate
{C)  both (A) and (B) (D)  none of these.
33, R 2-x(x-1) F IR T PAGA &
A -2 B) 2
c 7 D) 1
The product of the zcroes of the polynomial 2- x(x~1) is
(A) -2 B) 2
c 7 0 L
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34, Frafefoa 8 o) wtag ot @ 2

W PR P (B V248,418,432, ...

€ -10,-16,-2,2,... (D) 02,022, 022202222, ...
Which of the.following is an A.P. ?

(A} 13,52,72.73,... B J2.48.418,432....

(C) -10,-16,-2,2, ... (D) 02,022,022202222,..

35, Fyefefan o wa agwe @t d 2

(A} 2-x%+3x (B) %x +1
T 1
~& x () x+1

Which of the following is not a polynomial ?

A) 2-x?+J3x (B) %—x*l
(€ x> (D) x-lbl
36, 3R UF 35U YW ) Fur qun e v w o @) e @A b A g w
HT
(A) o B 30°
JC 45 (D) 60°

If the height of a vertical pole and the length of its shadow on the ground are
the same, then the angle of elevation of the sun is :

(A) 0 B) 30°
C) 45° (D}  60°
37/ % A 3R B3 G LT E 6 sinA=cos B, 7T (A+ B)=?
(A)  45° (B) 60°
~Jer~ 90 ; D)  30°
[210 )G (7036-G u Page 12 of 24
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If A and Il ate two acule angles such that sin A = cos [ then (A« B} =7
(A) 45 w60
€ 90 D) 30°

.H/ fagadt (4, -1 )3t (2,3 )b am e g0 B

LR N5} | 5
© 35 O 25
Distance between the points (4, -1 Jand (2, 3 ) is
A 3J3 m 5
€ 345 D) 25

39 = el @l fromait @ aeqma (1 2) & ma g Sarvd & e (5 3) B A
4 sl w1 s b
A 4:9 © 11:12
oY 5:12 (0) 20:9

Radii of two cylinders are in the ratio ( 1 : 2) and their heights are in the ratio

[ 5:3}, then their volumes are in the ratio
(A) 4:9 B 11:12
(C) a3: 12 (D) 20:9

40. AR 14, x 5T 2@ G 7L, A xFEAL

Al 6 B 8

S 13 @ 9

If1,4, x,5Sand 12 is 7, then the value of x is

Al 6 B) 8
€ 13 D 9
[210] G [7036-G 7 Page 13 of 24
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a1 5005 % fead s e & 2

N 2 | 4
(€1 6 o 7
How many prime factors of 5005 are there ?
(A} 2 B) 4
6 oy 7
Ay -1 (B) sec?A
(C) cot?A -(Q—"tan? A

43, U% o3 F e @ g 21 om WG &) @ T 10 frez o afad ST &

(A} 126 cm? ~{Br~210.¢m?
(C) 231 cm? (O 252 cm?

The minute ncedle”of ‘& watch is 21 cm long. The area covered by it in

10 minutes is
(A) 126 cm? (B) 210cm?

(€} 231 cm?’ ' (D) 252 cm?

4, fa=d (3, 2) 3K (-3, 2) <At smafea &

A T B) yI W
1O 3 & T AR (D) x30 & TFi 3R

Both of the points (3, 2 ) and (-3, 2 ) are located on

(A} x-axis (B) y-axis
(C)  one side of x-axis (D)  both sides of x-axis
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45/ 20+ 3y =11 M 2 -ay- 24 F Tk

Al x=2 y=4q B) x=-2,y=-5
€} x=-3,y~1 . D~ x==-2,y=5
Solutsons of 2x +Jy=11 and 2x - 4y = -24 are
Al x=2 y=4q B) x=-2,y=-5
(C)  x=-3,y=1 D) x=-2,y=5
46 tan 30*. sin 30°. cot H0®.cosec 30* =
d
w3 ® 3
o 1 O
4

47T T F P qEla 8 216 om? ¥ A G S X

(A} 144 cm’ (B) 196 gn’
€ 212em’ (DY 216 &m’
If the total surface area of a cube'is 216 cm?, its volume is
(A) 144 cm® (B 196 cm’
(€) 212em’ (D) 216 cm’
a8,  fetatae 8 @9 o i @ R 2
(A)  Sx+2x?=x?43 B x-x?=(x-1)°
(C) (x+3) =3(x%-5) D) (V2x+3) =2x? +5
Which of the following is not a quadratic equation ?
A)  Sx+2x?=x?43 B x3-x?=(x-1)
€ (x+3)=3(x?-5) D) (VZx+3P=22+5
39,  HE FO@ T J 0T & AGA B FOE 9: 16 €, A ITTE TH JB & QAGA
&1 39 & e 2
(A) 3:4 (B)
-10}(' 3:1 (D)
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/ﬁu— fatio of the volumes of two cylindera of the samc height i3 9 16, ey, Wha, |

5 the ratio of their surface arcas ?
<N 3:4 @ 2:3
€) 3:) (D) 4:3

0, S P1s,6) Mg A6, 5) 3R B4, y) F I € TR TUTGS AB T oty
8,y aar s g )

)y s B~ 7
€ 12 )y 16
W25, 6)is the midpoint of the line scgment AB joining the points A (g 5)

and (4, y), then Y equals to

(A) S B 7
C) 12 (D) 16
,1/ fmﬁmﬁmﬁ%mm#mw%wﬁmfumk
| 2
(A} 3 {B) %
- 1
I [ o 0 3 (D) 2

A dic is thrown. The probability of getting an even number is

2 1
(A) 3 (B) -ﬁ-
5 ]
(C) 3 (D) 2
52. 96 H AW OGS T §hW ?
(A)  2%x3? B) 23x33
€ 2u3 (D) 2x3%
What will be the prime factor of 96 ?
(A) 2%x3? B) 23x3?
) 2°x3 (D) 2x3Ss
[210 ] G [7036-G u7 ~ Page 16 of 24
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L) |
[

r 0 & & w s g b

4
Nl 3‘"J (B) -g-:r:’
. J
€ Sar ) tar’
The volume of the sphere of radius ris
4
(A) ilr‘] (B) %:r"
"
(C) :jar‘ (D) -:’T:u':l
5. (1-con?0)(1 4 cot?0)m
Al 0 @ -l
1
€ 3 —or 1
55. @™ BeyDE, AD: AB = AE: x, @ x Wt b
=
E
i D B
(A} BD B BC
(€ AC O EC
In figure BC| DE, AD: AB= AE: x, then x is cqual to
C
E
A D B
© AC D) EC
[210] G [7036-G un Page 17 of 24
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:f) Rem (T o g & st w1 ATEe 4

F
TR (B) 100em
a
€ (2% o 128 cm

The area of the inner square of a circle of radius 8 cm 18

1
A} 64 cm? (B) 100 cm
€1 125 cm? (D) 128 cm’
57 _ AADC ™ aper 3§ AB L BC 3 g fnea ey g, @i
:/ K \DEF T ™A
M (B - LE B) ZA=4D
i %J.'-i ) }"j% in AABC and ADEF, both of these triangles-will be similar if
(Al 4B« (E RSN 7
Wik - dEg D)  LA=£F

58, ot i wiaT @ et ¥, @ 1 el e o T A

Ay T (B) wa
€ @& damsy (D) w3 s
If a pair of lincar cquations is inconsistent then the lines representing them
will be
(A)  parallel (B) always coincident
(C)  always intersecting (D)  intersecting or coincident

59 % HEAISH B EEA 8670 § S 36H HoWo 17 ¥, A T6H HoWo FFN

(Al 102 (B) &5
(€) 107 ~Dr~ 510
[210 ]G [7036-G un Page 18 of 24
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The product of two numbers is 8670 and their HCF ia 17, then their

(Al

(€)

102
107

LCM will be

(B) 85
Ny 510

au/ 6, 8 M 22 47 Fowe 3N HoTo W Fra 4

N 1320 o 2:22
€ 8:6 o) 12:3
The ratio of the LCM and HCF of 6, 8 and 22 is
(A 1321 B 2:22
€) 8:6 oy 12:3

WvE - 9 / SECTION - B
§Y IAET WA / Short Anawer Type Quostions

m#mxﬂmmaqmﬁwhnﬁﬂfsﬁ15wﬁtminmmﬂrm
2 3w fuifa 3

Question Nos. 1 to 27 are ShortAnswer Type. Anst

15x2=30

ver any 15 questions. Each question

carmecs 2 marks. 15x2=30
1 e @ w @y aE 3x? - 4x - 1 = 0 H1 & e 2
; , . e
Using quadratic formula find the solutions of the equation Ix*-4x~-1=0.
QT &t & /2 @ swfola den b 2

Prove that 2 is an irrational number.

uﬁ:faa(.s,y;_hqaﬁ;b.-naa‘rtm,aiitmk,ﬁﬁwaﬁfm‘ x-y=3.

.
If ( x, y ) is a point equidistant from the points ( 6, -1 ) and { 2, 3 ), show
that x-y=3.

2 Wl & WoHo 18 YN ITH UAHH 12960 &1 A ITH FAodo WA w1 2

The HCF of two numbers is 18 and their product is 12960. Find their LCM.
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’ ) W W U e cvdey fos fagd (-2, 9), (0. 1)1 (2, -3 i &) 2

Using the distance formula, show that the points (-2, 5 ). (0. 1 Jand (2, .3

are collinear

e 4o & ST W) aff 132 em St 3Eed Jart 25 om B M AFR @) anr

yrt &d 2

i the arcumference of the base of a cylinder in 132 cm and its height in 25 ¢
find the volume of the cylinder.

fm apc o6 wipag fop X, Prew we ¢ wiwm b fog et g

Ap? = 24¢? 2
ABC s an isosceles tnangle whose angle C is a nght angle. Prove (hy,
AB? «2AC7 .

8 % wan0- 8, q Aun0-boosd gy ar i i 2
asin0 + bcos0

If tan0 = 2, then find the value of @PESCEPTY
b asmi¥bcos0

9 i fewr &) ow aegomn e ¢ e s &) afawm e w6 9
Three coiny wre tossed together. Find the probability of getting three heads.

10— ffafga 429 & anag e &1 2

Find the mcan of the following distnbution :

Class-
interval
DTG

Frequency

40-50 30-60 60-70 70-80 80-90 90-100

1S 25 14 12 8 6

1. fog &1 & an48*1an23* un42* an67* = 1. 2

Show that tan48°tan23*tan42*tan67° = | .

[210) G [7036-G u7) Page 20 of 24
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2. feg &fwy §, -
l Sl gt P13.2), Q(-2,-3) 3t R(2.3) % wawm fop @ 2
3
Show that the Points P( 3, 2), Q (-2, -3)and R( 2, 3) make a right angled
triangle. £
13. oz & fis L=sino 2
1+ 8ing (secO-1an0)?,
Prove that L=sing _ .
+8inl (M'Cﬂ'-lnnﬂl A

14, A Apcd YAl AB T Ac T %) fag p ¥R E WL @@ AR R T DE] BC
rl'f{ ADH(?:.‘.‘I' DB"(3!+4]. AE-IS.‘_QJ oGl ECHJI. m X i 0
Fraret - 2
In AABC, D and & are points on the sides AB and AC respectively such that
DE]HC. Il AD = (7x-4), DB =(3x+4), AE={5x-2)and EC = 3x, then find
the value of x.

1S, WU 6x? _3_7 & Tpuw W wd g gk o e & i dd @)
T &) Ay wi 2
Find the zeroes of the polynomial 6x% -3-7x and verify the relationship
between the zeroes and the coeflicients.

16. l-Euﬂgismﬂ«r—h 2
Convert 1.8 in the form ol’-g.

17, A& FE 7x-2y=3 N 22c-3y-t6 MAA PR AR S 2
Solve the system of cquations 7x-2y=3 and 22x-3y=16 Dby cross-
multplication method.

18. n&mﬁvﬁmn‘twémgﬂw%tmmaﬁmmmﬁw&n 2
If the seventh term of an A.P. is % and its ninth term is %. find its 63rd term.
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| A i
1o @ st w 3tre 4 ¥ wer Tk apwd W st b st et

The difference of two numbers is 4 and the difference of their reciprocals iy -_4

2]
Find the numbers

20 Bt e am wt 2

Scoa? 60 « Anec? 30° - Jtan? 45¢
sin’ 30 » cos® 30°

Evaluate the following

Scoa’ 60° » ancc? 300 - Z'lhmz 45° ‘
ain? 30° « cos? 30°
21 ez wt e qn st fan fem) feg o dist ot et tan, o fag o and g
frmm wr o g R .

Prove that, the tangent drawn at a point of a circle is-perpendicular 1o its rad;y,
passing through the point of contact.

22, TF SNGAER Uk & AT & e ot 360 m @1 2

Find the arca of a semy-cucular park if its perimeter is 360 m.

21 R E @U@ a0 EE A R, @ A o #) e oA g 6 # wiewa
i "

Two dice are thrown together, then find the probability of getting sum of two
numbers is 8 on both dice.

24, Frfefan 47 & e v &t

5t ;
‘ind the mode of the following distribution :
- T
Class- | 80-85|85-90 | 90-95 | 95-100 | 100-105 | 105-110 110-115
interval
T
3 27 85 155 110 45 15
Frequency
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5.

6.
ol f

a7.

S W & s @) o § o ma @t 12 cm B) VO AE 99 A freret
2

F“Id l]'“.' t?lll'\’l.':d 'uerCt arca of a cone whose f‘dlu. af base 1s 5cm .-ﬂ-l-‘ h‘l‘}"‘
" 12 <m. M

{fars favraen eifron @ s @ 1651 9T 2032 1 FeWo frwreh
UIlﬂ‘ Hu‘l’hd'l d;‘-|gmn Iigﬂfi!hm. ﬂnd the IICF 0[ 1651 .nd 2032

3 I Apc w bz feg oy Wiy Pk v g (-1, 01, (5, -2)
(8,2)k .

Find the centroid of AMDC whose vertices are (<1, 0). {5, -2)and (8.2)

¥id 39T WY / Long Answer Type Questions

WY W 2 @ 3s @ awia b gl @ e 4 o e ) vRs o & fa

8 3w fraifra & 4x8+20
Question Nos. 28 1o 35 are Long ARs10e7 Tpe Answer any 4 queations Each question
cames 5 marks 4«5=20
28 T QA Gy a2 T 9x-Jy = 6§ 0% g 3T g w 5

29

Draw the graph of pair of cquations x -y = 2 and 9x - 3y = 6 and solve them.

UF agifaen vaq & fro A2 M 0w 8 m ¥ v & o st A @
AT @ g 300 M 45+ b1 wpdfaen v w Sk sl <A vl & g
& gt I Wi 5
When viewed from the top of a multi-stoned building, the angles of depressions
of the 1op and bottom of an 8 m high building are 30* and 45* respectively. Find

the height of the multi-storied building and the distance between the two
buildings

30 fex 1 fe it g & ofom wwiag wpds, wwada g 5
Prove that the parallclogram circumscribing a circle is a thombus.
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A3

34

35

du gt gl 4 W ™m. o ot ag W B Fh R o e g w) ¥ n oW
¥ 8} R i w4 st p @) mhi s o wl

Five years ago, A was thnce as old as D and trn years laler A shaj] b tWice oo
old as B What are the present ages of Aand 11?7

|

feg wt f {mttt.d—-ln-llfiﬂ"‘"“"“'m

‘..

Prove that (cosec A - sinA)(asec A~ COBA| = e

7% frga Apc @ v wE fAEd AB - Scm, BC - 6 an T CABC = 6 b f3y
7% fg @ v Wt P yprd aanc @) @ yansd @ 3 g

J

Draw a tnangle ABC in which AD = 5¢cm, BC = 6 cm and ZABC - 60 Then

canstruct a tnangle whose sides are :‘3- times the comesponding widey of AABC

T T2 W W U & S 30 e AR & T 28 km AR A 7 @ g5

FRQ FT R 1A U AR 94 km AT SRR i o o T —
WRA W2 &1 O SRrET uiE e 1)

J

A motor boat covers 30 km upstream and 28 km downstream in 7 hours Also,

it covern 21 km upstream and come back in 5 hours Find the speed of the
motor boat in still water and that of the stream.

7% fnea apc & ¥ga & B 4 em ¥ T o3 Q) o BD T pe
Hawd, fam o pe el pom faafm o b 6 om s

AB T AC ®) FURG g ¥t 5
A triangle ABC is drawn to circumscnibe a circle of radius 4 cm such that s
scgments BD and DC into which BC is divided by the point
lengths 6 cm and B cm respectively. Find the lengths o

cm f1 VAT

C
of contact D are of
[ the aides A and AC

faere & A Fafda @afl oraresrd],
ST YA, 9 uF, Higes dug, vefAe

&1E, Aeters &1, udten A,
ifesifs sraeae s sanfe aad
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